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+,-,., /0 121 34 56789:; 3;<=;
xi = 8, 16, 20, 28, 32, 36
yi = 4, 12, 24, 40, 44, 48, 52, 56
Q = α/2 = 0.050

+,-,., /0 1> 1 ? 84=@ 3A< BC D E=A 5@:F
xi = 4, 5, 6, 8, 10, 11
yi = 7, 9, 12, 13, 14, 15, 16,
Q = α/2 = 0.025

+,-,., /0 1G 1 ? 54 =H7=@ I5=A E:J
K:98J4=@:F
xi = 6, 10, 12, 16, 18, 20
yi = 4, 8, 14, 22, 24, 26, 28, 30
Q = α/2 = 0.050

+,-,., /0 1/ 1 ? =;L8A 5;6= 3;LA 5J
xi = 4, 12, 20, 24, 28, 32
yi = 8, 16, 36, 40, 44, 48, 52,
Q = α/2 = 0.005

+,-,., /0 1M 1 I:4NC 8;=@ ? H48<
O8:4N5@:F
xi = 3, 7, 11, 15, 17, 19
yi = 1, 5, 9, 13, 21, 23, 25, 27
Q = α/2 = 0.010

+,-,., /0 1P 1 Q E=A =@ R 75@=4 =L
S :A :44 =@:F
xi = 8, 12, 16, 20, 22, 24
yi = 4, 6, 10, 14, 18, 26, 28, 30
Q = α/2 = 0.010

+,-,., /0 1T1 U HA8@4 5@8 3;87<87:V
xi = 10, 13, 16, 22, 25, 28
yi = 4, 7, 19, 31, 34, 37, 40, 43
Q = α/2 = 0.005

+,-,., /0 10 1 WHXA :4NF5@ Y 8;::4
xi = 9, 12, 18, 21, 27, 30
yi = 3, 6, 15, 24, 33, 36, 39, 42
Q = α/2 = 0.050

+,-,., /0 1Z 1 D[=<=@ \=C 8; D E=A 5@:F
xi = 12, 16, 24, 28, 36, 40
yi = 4, 8, 20, 32, 44, 48, 52, 56
Q = α/2 = 0.005

+,-,., /0 12] 1 ^H68;:; 34 5678;LA
_5A E55@:F
xi = 10, 14, 22, 26, 34, 38
yi = 2, 6, 18, 30, 42, 46, 50, 54
Q = α/2 = 0.025

+,-,., /0 1221 _5C 5;=@ Y C :<A :J
_5A E55@:F
xi = 3, 9, 12, 18, 21, 24
yi = 6, 15, 27, 30, 33, 36, 39,
Q = α/2 = 0.050

+,-,., /0 12> 1 _< 5`8;=@8 _@5<48;8
xi = 6, 9, 15, 18, 24, 27
yi = 3, 12, 21, 30, 33, 36, 39,
Q = α/2 = 0.050

+,-,., /0 12G 1 a<6:; 3A< 5C
Q @E5;N5@:F
xi = 4, 6, 8, 10, 12, 13
yi = 5, 7, 9, 11, 14, 15, 16,
Q = α/2 = 0.010

+,-,., /0 12/ 1 bA8`=@ D @8; O:6=4 85@:F
xi = 5, 8, 11, 17, 20, 23
yi = 2, 14, 26, 29, 32, 35, 38,
Q = α/2 = 0.010

cdefgehi j kl k mfnopoqrspo n gtutivw xhqhy zo stogvv ptgo{siorst| v ehstehsvyt}
rno| rshsvrsvnt k ~ k����� k r k ��� k



+,-,., /0 12M 1 �5A ;�� 5@ Q E=A
R 8L:C =@:F
xi = 6, 8, 12, 16, 20, 22
yi = 2, 4, 10, 14, 18, 24, 26, 28
Q = α/2 = 0.025

+,-,., /0 12P 1
xi = 3, 4, 5, 6, 8, 10
yi = 7, 9, 11, 12, 13, 14, 15,
Q = α/2 = 0.050

+,-,., /0 12T1
xi = 7, 11, 19, 23, 31, 35
yi = 3, 15, 27, 39, 43, 47, 51, 55
Q = α/2 = 0.025

+,-,., /0 120 1
xi = 5, 7, 11, 15, 17, 19
yi = 3, 9, 13, 21, 23, 25, 27, 29
Q = α/2 = 0.005

+,-,., /0 12Z 1
xi = 3, 7, 9, 11, 15, 17
yi = 1, 5, 13, 19, 21, 23, 25, 27
Q = α/2 = 0.050

+,-,., /0 1>] 1
xi = 4, 6, 7, 8, 9, 11
yi = 3, 5, 10, 12, 13, 14, 15,
Q = α/2 = 0.025

+,-,., /0 1>21
xi = 6, 12, 18, 24, 30, 33
yi = 3, 9, 15, 21, 27, 36, 39,
Q = α/2 = 0.050

+,-,., /0 1>> 1
xi = 8, 16, 20, 24, 28, 36
yi = 4, 12, 32, 40, 44, 48, 52, 56
Q = α/2 = 0.050

+,-,., /0 1>G 1
xi = 5, 11, 14, 17, 20, 23
yi = 2, 8, 26, 29, 32, 35, 38,
Q = α/2 = 0.010

+,-,., /0 1>/ 1
xi = 2, 8, 11, 17, 20, 26
yi = 5, 14, 23, 29, 32, 35, 38,
Q = α/2 = 0.010

+,-,., /0 1>M 1
xi = 5, 7, 9, 11, 15, 17
yi = 1, 3, 13, 19, 21, 23, 25, 27
Q = α/2 = 0.025

+,-,., /0 1>P 1
xi = 1, 2, 3, 5, 6, 7
yi = 4, 8, 9, 10, 11, 12, 13,
Q = α/2 = 0.050


